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http://farbe.li.tu-berlin.de/BE74/BE74LONA.TXT /.PS; start output

N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

logarithmic V , V,-data u, = (A - 550) / 50

logV = (logV,+ logL)/2logM = —0,35[~Us.] |

logV, =logV + 0,03 logLo = —0,35\~Us7q

log [Vo, V , Vi, Lo] Adaptation: A, .=555
570

maximum
log(Vm)=-0,03
Vm=0,93
Threshold
tz=0,00

ux

600 700 A/nm
BE740-1N

U = (A - 550) / 50

540,555,570
logarithmic L , L,-data
logL = (log©.+log )/2 log,=-0,35u\-u ]2
logL, =logL + 0,35 log: =-0,35L)\-u ]
log [Lo, L., Co, Adaptation: A =570

maximum
log(Lm)=-0,35
Lm=0,44
Threshold
t5:0,00

BE740-3N
uy = (A = 550) / 50
=(log  +logMg)/2log - = —0,35u)-u ]
=log~ +0,35

g ,Mo] Adaptation: A y=520

maximum

log( m)=—0,35
m=0,

Threshold

tz=0,00

\ =/.rdata uy=(MA-550)/5
=(log +log©.)/2 log  =-0,35uy-u ]
=log +0,35 log©, = —0,35\-u. ]

Adaptation: A =470

maximum

log(' m)=—0,35
m=0,44

Threshold

tz=0,00

420,470,520
BE740-7R, 1

BE740-7N

logMo = —0,35[U)~Us7q ]

logarithmic V , V,-data u, = (A — 550) / 50

logV. = (logV+ logLg)/2log M, = —0,35U)~U:]|

logV, =logV + 0,03 logL o= —0,35)\~Us7q

log[ VoIV ,Lo/V, ] Adaptation: A, =555
570

maximum
log(Vm)=-0,03|

BE740-2N
U, = (A - 550) / 50

2

540,555,570
logarithmic L , Lo-data
logL = (logt.+log )/2logt.=-0,35u)\-u ]
logLo =logL + 0,35 log  =-0,35u)-u ]
log[CGo/L, /L, ] Adaptation: A =570

maximum
log(L m)=—0,35
Lm=0,44
Threshold
tg=0,00

BE740-4N
-data uy = (A —550) / 50
= (log  +logMg)/2log - = —0,35,\-u ]
=log" +0,35
1G.\Mo/G;, ] Adaptation: A y=520

570 /

maximum

log( m)=—0,35
m=0,

Threshold

tz=0,00

-data u) = (\ — 550) / 5i
+log©.)/2 log - =-0,35u)-u ]
+ 0,35 log
Bz | Adaptation: A =470

maximum

Threshold
ta=0,00

420,470,520 BE740-8N

logMo = —0,35[—Us7d |

=-0,350y-u- ]

logarithmic V , V,-data u, = (A — 550) / 50

logV. = (logV+ logLg)/2log ;= —0,35Up—U:]|

logV, =logV + 0,03 logLo = —0,35\~Us7q

log [Vo, V , Vi, Lo] Adaptation: A, .=555
570

maximum
log(Vm)=-0,02
Vm=0,94
Threshold
tg=0,01

ux

600
BE741-1N
Uy = (A - 550) / 50

540,555,570
logarithmic L , Lo-data
logL = (log©.+log )/2 log
logLo =logL + 0,35 log: =-0,35L)\-u ]
log [Lo, L., Co, Adaptation: A =570

maximum

log(Lm)=-0,34

Lm=0,45

‘vhreshold
<0,01

BE741-3N

-data u), = (A — 550) / 502

= (log -+ logMg)/2log
=log~ +0, 35
, Mo Adaptatlon A v=520

=-0,35[)-u ]

maximum
log(' m)=—0,34
m=0,
Threshold
ta—O 01

3uh

600

u)\=()\—550)/5

=(log  +log©.)/2 log . =-0,35u\—u ]
=log +0,35 log©, = —-0,35\-u. ]
Adaptation: A =470

maximum

Threshold
ta=0,01

420,470,520 BE741-7N

BE741-7R, 1

=-0,350)-u- ]|

logMo = —0,35[,—Us7d |

logarithmic V , Vo-data
logV =(log
logV,=logV + 0,03
log [Mo/V ,Lo/V, ]

+logLo)/2log

=-0 35[1% u
logL o= —0,35l)\~Us7q
Adaptation: Ay, =555

570

1

maximum
log(Vm)=-0,02]
Vm=0,94
Threshold

,Lo-data

+log )2
logLo =logL + 0,35
log[ /L, /L,]

1

600
BE741-2N
Uy = (A = 550) / 50
log©, = -0,35u\—u ]
log  =-0,35u)-u ]
Adaptation: A =570

maximum
log(Lm)=—0,34
Lm=0,45
Thresizold
tg=0,01

-data

= (log -+ logMg)/2log
logMo = —0,350,—Us7d |

=log" +0,35
1G:; Mo/ G, ]
570

Uy = (- 550/ 5]
=-0,350,-u ]

Adaptation: A y=520

maximum
log( m)=—0,34
m=0,45
reshold

t2=0,01

-data
=(log  +log.)/2
+0,35

/Bal

600
Uy = (A - 550) / 5

log - =-0,35u)-u ]

log©,=-0,35\—u
Adaptation: A =470

maximum

Threshold
ta=0,01
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TUB-test chart BE74; Relative elementary colour vision input: w/rgb/cmyk —>
log[Sensitivities and excitationsEMS-R17_Mx (x=1,2,3,4}threshold £0,00 and 0,01
Y

A




